Spring 2006 CH302 Worksheet 1a: The thermodynamics of chemical and physical processes

Chemical Reaction AH (kJ) | BE (kJ) | Anga | W (KJ) | Angystem | TAS (kJ) | AG (KJ)
CH4q + 202q 9 COZq + 2H20q Sign
Explain: Combustion reaction, would predict large calc.
heat and spontaneous reaction. An =0 means no

work, small entropy change.

2H2g + 029 9 2H20g Sign
Explain: calc.
2H20q 9 2H2q + 02q Sign
Explain: calc.
CoHs0H, + 3054 2 2C0Oy4 + 3H,04 sign
Explain: calc.
C,Hs0OH, + 3029 > 2COzg + 3H,0, sign
Explain: calc.
C3Hgg + 5029 > 3COzg + 4Hzog sign
Explain: calc.
2H,05 =  2H,0,+ Oy g sign
Explain: calc.
Explain: calc.
Ba(OH),(H20)g; + 2NH,NO; >  Ba(NOj),s + 2NHgg + 10H,0, | sign
Explain: calc.




203, 2 30y sign
Explain: calc.
AH (kJ) | BE (kJ) | Anga | W (KJ) | Angseem | TAS (kJ) | AG (kJ)
Chemical Reaction
COyq 2> COy sign
Explain: calc.
Explain: calc.
H.Os > Hy0 sign
Explain: calc.
Reaction: sign
Explain: calc.
sign
Explain: calc.
Reaction: sign
Explain: calc.
Reaction: sign
Explain: calc.
Reaction: sign
Explain: calc.




Reaction: sign
Explain: calc.
Reaction: sign
Explain: calc.




